UG/CBCS/B.A./Programme/6th Sem./Sociology/SOCPGE2/2023

Sdl §iF

i

feraiaeneRr
R o s 1 I T e L
UNIVERSITY OF NORTH BENGAL

B.A. Programme 6th Semester Examination, 2023

GE1-P2-SOCIOLOGY

POPULATION AND SOCIETY

Time Allotted: 2 Hours

The figures in the margin indicate full marks.

GROUP-A / Reb-< / @g-®

Answer any fwo of the following questions
et @-Fit 76 @mie Tea wis
1 GIICT YT IR T8N

Define social demography. Discuss the nature and scope of social demography.

AIER Sreore ArtfRwp Agesl wie | AIEs S rifms @i @ #iffd SicEnb=l 341
HHTRAD STTATRI D! HTel & T8 ? JRADT TPl I AFN fIemT T8 |

Critically analyse the Marxian theory of surplus population.
Tge TR IS MCsf wel b A1 F41
HTRTET ‘AT SFASRT RIGIIhT qeha=Hd FHIC T T8I |

What is mortality? Identify the factors affecting mortality in rural India.
TGIRR FE A 9 el SRS TG Wezpidt Fizeiafe fofze 32
HeER HTel b IS8 ? YTHIUT HRTHT JegaRells THTfIT U PRepe<s TS Te |

Analyse the population policies in India undertaken after independence.
FIRIT! S SIS 52 TR A Afoafe [Rrse 741
TR ARTDT TS ATfTeae] AT TR |

GROUP-B / -4 / a1

Answer any four of the following questions

faferiie - oAb @vea Ted wie
P FIRGCT THEHD! ITR T8

Analyse the relationship between Sociology and Demography.

INEOE € T ARV W& F=1F 1< 4|
FHISIIRS ¥ SR BT UTgT Fre~eah! oo ﬂﬁ%ﬁo Tl
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6.

10.

11.

Discuss the demographic transition theory of population.
TR “AfFaee s ol SEna F41
TRTIRE T P RIGTT SN I SEIe I |
Explain demography as a major factor of social change.
G fEeiCa e AR MR e o FKese 91
SR ! AT TRETTepT JE PR & — I HATIR Heb1el T8I |
Discuss recent age structure of the population of India.
TG OIS GreiCeld R R F2(CF SCEAD| 1
I ARTD! SASEATDT 3R] AR =4 T |
Explain the causes of declining sex-ratio in India.
OO @ P ot SiePiiced Simeisfe it w41
R fFGTTUTe! &XHT HgRED! GIITR TehT2T UTE N |
Discuss the recent trends of change in fertility rate in India.
SIS TAYEE ArAfOF 276! SCEH F4 |
IRETHT TSI S_epT IeHI g fRTeeh! HTET T8I |
GROUP-C / fq@nl-a1 / T

Explain / Define any four of the following:
fAfeiie @-RIl o1AT6 efve= il / kel nies
1 TR [T feeqult oreTa i -

(a) Population explosion
IR REC
SIS favhic

(b) Infant mortality
e graE

(c) Family planning
gRaR e

(d) Crude Birth Rate
TR
TS THER

(e) Census
Greierel
STIOTAT

(f) Out-migration.
RIEvRIRaiERICE
CISREEISEN
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